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1.(6%)— #& window & > C & C++2 & & g & % # % unsigned short 8% » 3% 4 # 5T LAk A7 2
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2.(4%)F A2 X R B ATIH a 248 B4 2

int a=0,b=2;
float c=1.8;

a=b*c;

3.8%)TF #I42 X R B hATI4 test 2 {H B4 ?

int test=0;
do{
continue;
t++test;
} while(test> 3 && test <9);

4. (10%)TF 7] C++42 X A R BATH 8 H & R A 472

int x=0, y=0;
while (x<2)
{ switch (x+y)

{ case 0: x++;
case 1:
case 2: y++; break;
case 3: x++; break;
default: y=0; break;}
cout <<vy;}

5.(10%)7F F1#2 X b B AT 4 84 th 48 47 2

int 1,j,k,sum=0;
for (1=0; i<5; i++)
for (j=0; j<i*i; j++)
for(k=0; k<j; k++) sum++;
cout << sum;
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6.(12%)F B H TR XA ST R ML R -

void swap (int *x, int *y)
{ inttemp;
temp = *x;
*y = *y;
*y = temp;
cout <<"swap ! " <<*x <<M I "<<Hy << endl;}
void chang (int x, int y)
{ inttemp;
temp = x;
X=Yy;
y = temp;
cout << '"chang : "<<x <<" ! " << y <<endl;}
int main()
{ inta=1,b=2;
chang(a, b);
cout <<"Achang : " <<a<<":!"<<b<<endl;
swap(&a, &b);
cout <<"Aswap : " <<a<<"!"<<b<<endl;
return 0;}
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2 3 4 5 6 7 8 9

4 6 8 10 12 14 16 18

6 9 12 15 18 21 24 27

8 12 16 20 24 28 32 36

10 15 20 25 30 35 40 45

12 18 24 30 36 42 48 54

14 21 28 35 42 49 56 63

16 24 32 40 48 56 64 72

18 27 36 45 54 63 72 81

8(15%)3% XA recursive £ 75 3% 32X > HT+HEH Cn)z (4 £ n B Ee A
Cln]=(2/n) (Ziy C[iD+n > @ C[0]=I - |

9(20%) sk &3t — RAE A recursive 356942 X » AT+ EH Cn]zE - £ b n B EEYE
Clnl=(2/m) (Zi5 C[iD+n > & C[0]=1 -




